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INSTRUKCE 

Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. Svou 
odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li odpověď změnit, 
požádejte člena komise o parafování změny. Správná odpověď se hodnotí jedním bodem, žádná nebo 
nesprávná odpověď žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na provedení testu 
máte 20 minut. Při testu nelze používat žádné pomůcky ani elektronická média. Lze používat pouze psací 
potřeby. 

 
Choose the best option. 

 
1. Henry has done nothing since he  .......... . 

(A) has arrived (B) arrived (C) had arrived   (D) was arriving   
 

2. “Oh! The bag is so heavy.”  “Wait a minute! I .......... you with it.” 
(A) ’ll help (B) help (C) ’m helping  (D) ’m going to 

 

3. “Must I go to bed early tonight?”                                                                                                                                   
“No, you .......... , but if you are tired tomorrow, don’t complain.”   
(A) mustn’t (B)  don’t (C)  needn’t         (D) haven’t 

 

4. “What time ..........?”  “At 8.30.” 
(A) begins the film   (C) does the film begin   
(B) does the film begins  (D) the film begins 

 

5. “What .......... the latest information?”  “I don’t know, but no news .......... good news.” 
(A) is, are (B) is, is   (C)  are, are           (D) are, is 

 

6. Helen’s hands were dirty. She ......... in the garden all afternoon.   
(A) had been working   (C) was working 
(B) has been working (D) worked 
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7. Alice said she .......... to India. 

(A) wasn’t (B) has never been   (C) had not been   (D) will never be   
 

8. He .......... to find a job, but he had no luck.   
(A) tried hard (B) tried hardly   (C) hardly tried   (D) hard tried 

 

9. Look! That man .......... to open the door of your car. 
(A) tries  (B) had tried   (C) was  trying (D) is trying 

 

10. Hurry up! We must leave .......... ten minutes or we will miss the bus.  
(A) after (B) in (C) at (D) before 

 

11. If I .......... to bed early, I would have caught the train.  
(A) went   (B) would go   (C) had gone (D) would have gone 

 

12. Mathew phoned while we .......... dinner. 
(A) had (C) had been having   
(B) have been having              (D) were having 

 

13. I’ve always found .......... physics .......... difficult subject.  
(A) a, a   (B) ---, a (C) the, the   (D) ---, the 

 

14. The floor .......... yet.  
(A) hasn’t been mopped   (C) hasn’t mopped   
(B) wasn’t mopped    (D) didn’t mop 

 

15. Can I have .......... milk in my coffee?  
(A) little (B) a few   (C) any        (D) some 

 

16. We haven’t been to the cinema for ages, but when we were younger we .......... very often.                                
(A) used to going (B) use to go (C) used to go (D) used going 

 

17. Our orchestra, .......... players are all professional musicians, performs live on Sundays.  
(A) who (B) that (C) which (D) whose 

 

18. It was a great holiday. We met .......... nice people. 
(A) such a (B) such (C) so a (D) so 

 

19. Jack is hungry. He .......... for the whole day.  
(A) hasn’t been eating   (C) wasn’t eating    
(B) hadn’t been eating   (D) didn’t eat 

 

20. They didn’t paint their house by themselves. They .......... . 
(A) painted it  (C) had it painted 
(B) had been painted  (D) had painted it 
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21. David and Jane are both 22 years old. David is the same age .......... Jane.  

(A) of (B) than (C) as (D) with 
 

22. We decided .......... out because of the nasty weather.   
(A) not to go (B) not going (C) don’t go   (D) not go 

 

23.  .......... anybody allowed to use a calculator?  
(A) Did (B) Was (C) Were (D) Had 

 

24. They made him .......... the secret. 
(A) telling (B)  tell (C)  to tell (D) to telling 

 

25. I won’t speak to her until she .......... . 
(A) doesn’t apologise   (C) will apologise    
(B) won’t apologise   (D) apologises 
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1. (B) 
2. (A) 
3. (C) 
4. (C) 
5. (B) 
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11. (C) 
12. (D) 
13. (B) 
14. (A) 
15. (D) 
16. (C) 
17. (D) 
18. (B) 
19. (A) 
20. (C) 
21. (C) 
22. (A) 
23. (B) 
24. (B) 
25. (D) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



VYSOKÉ UČENÍ TECHNICKÉ V BRNĚ                 
FAKULTA PODNIKATELSKÁ 
Přijímací řízení 2016  
 
Bakalářské studijní programy:  
Ekonomika a management 
Systémové inženýrství a informatika  
 

 
ZÁZNAM ZKUŠEBNÍ KOMISE  

Počet bodů 
 

Za správnost předseda komise: 

Jméno a příjmení Podpis 

 
 

Varianta: 1313  TEST  Z ANGLICKÉHO JAZYKA    3 strany – 1. strana 

INSTRUKCE 

Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. Svou 
odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li odpověď změnit, 
požádejte člena komise o parafování změny. Správná odpověď se hodnotí jedním bodem, žádná nebo 
nesprávná odpověď žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na provedení testu 
máte 20 minut. Při testu nelze používat žádné pomůcky ani elektronická média. Lze používat pouze psací 
potřeby. 

 
Choose the best option. 

 
26. The soup .......... incredible. 

(A) is tasting (B) is tasted (C) tastes   (D) taste  
 

27. Here’s my report. .......... it at last. 
(A) I finish (B) I finished (C) I’m finished  (D) I’ve finished 

 

28.  There you are! I .......... for you all day.                                                                                                                              
(A) was looking (B)  ’m looking (C)  looked         (D) ’ve been looking 

 

29. Jane had .......... furniture for her room. 
(A) such a nice        (B) so nice (C) so a nice               (D) such nice 

 

30. Peter, wait! You .......... hurry. There’s plenty of time. 
(A) mustn’t (B) needn’t to   (C)  haven’t to         (D) don’t have to 

 

31. We can’t go along here because the road is .......... .   
(A) been repaired   (C) repair 
(B) being repaired (D) repaired 
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32. The driver was arrested for failing .......... an accident. 

(A) of report (B) report   (C) reporting  (D) to report   
 

33. I need to buy .......... .   
(A) a bread (B) a loaf bread   (C) a loaf of bread  (D) breads 

 

34. The emails .......... yet.  
(A) haven’t been sent  (C) wasn’t sent 
(B) hasn’t been sent  (D) didn’t send   

          

35. This website is .......... the grammar books.  
(A) more useful as  (C) usefuller as  

          (B) more useful than            (D) usefuller than 
   

36. I’ve got a meeting .......... Thursday afternoon.   
(A) at   (B) in   (C) on (D) to 

 

37. Someone .......... the tickets were free. 
(A) said me (C) told me   
(B) said me that              (D) told me to 

 

38. What’s the name of the man .......... gave us a lift?  
(A) whose   (B) what (C) which   (D) who 

 

39. If the bus to the airport hadn’t been so late, we .......... the plane.  
(A) caught  (C) would catch   
(B) had caught   (D) would have caught 

 

40. I was travelling by train when I .......... the billboard.   
(A) see (B) have seen   (C) seen       (D) saw 

 

41. What’s the weather like in Canada? How often .......... there?                                
(A) does it snow (B) does it snows (C) snow it (D) snows it 

 

42. A century ago there .......... be so many cars on the road.  
(A) didn’t use to (B) didn’t used to (C) used to (D) use to 

 

43. When we finally got to the  theatre, the performance .......... . 
(A) already started  (C) already starts  

          (B) had already started         (D) has already started 
    

44. We spent .......... money.  
(A) a much (B) many (C) a lot of (D) lot of 

 

45. .......... anybody able to translate the article? 
(A) Were (B) Was (C) Can  (D) May 
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46. He is rather keen .......... a girl in his school.  

(A) after (B) on (C) for (D) about 
 

47. Our friends .......... meet us at the airport tonight.   
(A) are going          (B) are going to (C) going to  (D) will be to 

 

48. At this time tomorrow we .......... over the Atlantic.  
(A) flying (B) will be flying (C) will fly (D) fly 

 

49. Please remember to close the window before you .......... . 
(A) will have left (B)  will leave (C)  leave (D) left 

 

50. Which firm are you going to use for .......... repairs we agreed yesterday? 
(A) the                     (B) - (C) some (D) any       
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1. (C) 
2. (D) 
3. (D) 
4. (D) 
5. (D) 
6. (B) 
7. (D) 
8. (C) 
9. (A) 
10. (B) 
11. (C) 
12. (C) 
13. (D) 
14. (D) 
15. (D) 
16. (A) 
17. (A) 
18. (B) 
19. (C) 
20. (B) 
21. (B) 
22. (B) 
23. (B) 
24. (C) 
25. (A) 
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INSTRUKCE 

Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. Svou 
odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li odpověď změnit, 
požádejte člena komise o parafování změny. Správná odpověď se hodnotí jedním bodem, žádná nebo 
nesprávná odpověď žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na provedení testu 
máte 20 minut. Při testu nelze používat žádné pomůcky ani elektronická média. Lze používat pouze 
psací potřeby. 

 
Choose the best option. 

 
1. .......... your students allowed to use a dictionary? 

(A) Did (B) Were (C) Had (D) Was 
 

2. Robert .......... ill for three weeks. He’s still in hospital.    
(A) had been (B) has been (C) is (D) was     

 

3. I’m very tired. .......... over four hundred miles today. 
(A) I have drive (B) I drove (C) I’ve been driving (D) I driven 

 

4. He was in .......... that he called the doctor.   
(A) so ache       (B) such pain        (C) such an aches     (D) so pain       

 

5. Nobody .......... eat less than three times a day.  
(A) should have (B) should (C) shouldn’t (D) doesn’t have to 

 

6. The story I’ve just read .......... Agatha Christie. 
(A) wrote (B) was written by (C) was written from (D) was written of 
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7. Someone suggested .......... for a walk. 
(A) go   (B) going (C) of going (D) to go 

 

8. My father is not only the town mayor, but he runs .........., too. 
(A) a business   (C) business    
(B) a piece of business  (D) any business 

 

9. I .......... the project yet.   
(A) hasn’t finished  (C) wasn’t finished 
(B) haven’t finished  (D) weren’t finished 

 

10. This place gets .......... crowded with tourists every summer. 
(A)  always more  (C) crowded and more   

          (B) from more to more         (D)  more and more 
 

11. Tom’s grandmother died .......... the age of seventy-nine. 
(A) in (B) on (C) at (D) of 

 

12. I don’t know why Nancy didn’t go to the meeting. She said she .......... definitely going. 
(A) be (B) is (C) was (D) would 

 

13. Susan is the woman .......... husband is in hospital.  
(A) whom (B) which (C) whose (D) who 

 

14. If Peter .......... well, he would have come to the party. 
(A) had been (B) was (C) would be (D) is 

 

15. I was reading a book when the doorbell  .......... .  
(A) rung (B) rang (C) has rung (D) had rung 

 

16. Which team .......... the game?  
(A) did it win   (B) did they win   (C) won   (D) win 

 

17. In the past there .......... be as many internet companies as there are today. 
(A) use to (B) didn’t used to (C) use  (D) didn’t use to 

 

18. By the time she got married, her parents .......... . 
(A)  divorced (B) had divorced (C) have divorced (D) were divorcing 

 

19. I don’t think Jill would be a good teacher. She’s got .......... patience with children.   
(A) little                   (B) a little (C) many      (D) any 
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20. Anna put the electric fire on .......... warm.  

(A) in order get (B) for to get (C) so she gets (D) to get    
 

21. He prefers watching rugby .......... playing it. 
(A) for (B) before (C) at (D) to 

 

22. “Look there, Sam. That old lady is carrying two heavy bags.”  “ I .......... her.” 
(A) ’m helping        (B)  help (C) ’ll help (D) ’m going to help 

 

23. I .......... on a sandy Italian beach this time next week. 
(A) have been lying  (C) lie 
(B) will have lying   (D) will be lying 

 

24. Will you be lonely without me while I .......... away?  
(A) will be (B) be (C) am (D) was 

 

25. I hope our antivirus programme is up to date.  .......... new viruses are appearing  

all the time. 

(A) The                   (B) -        (C) Any     (D) A      
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21. (D) 
22. (C) 
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24. (C) 
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